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Z ° D) Ifthe ordered pair (-

1

-5:3)is the same as the ordered pair (3 + 4,2k +9), then what is the value of 47
A) -;

B) 3 < 3

(5,3) (o, a6
XY x 7

~G= 3¢ +Y 3=2¢t9
-y ~9 ~9 -1
-9= 3K “b=2K
3 3 3 2
-3=K 32K

3)  Ifthe ordered pair (4.k) lies on the graph of 3x - 2y = -2, then what s the value of k?
A) 7

By -7 Qs

(—L[>K> 3x-Ay=- 2
Xy

3-4) - 2(K)= -2

L ~QK=-2
1) FNPN

2= o
T =
K=-5

D) .




[image: image2.png]10)  Which of the following ordered pairs is a root of the equation 2x + 2y = 47
A) 40} B (42 O (24

Guess and Chedll.
TAE choice C.
(2,4)  Ixdy=Y
XY
2(2)+2(4) =4
Hrg =y
4=
ITF Lo ! l’l.

16)Is the ordered pair (-13)a root of the equation x + =22 [Explatn why or wiy not.]
-1 ) 3) ¢ +\/ =2
N

- +3=2
RPN
Yes. If they Aiclnt /’Wal(c/)
1S not e rovt-,

D) (-2




